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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

You leave your bike in front of the fire exit.
* must not
® cannot
* might not
®* may not
Correct Answer :-
must not
2)
Question Stimulus :-

Fill in the blank with the correct option.

I swim quite well when I was younger.
* could
® can
®* must
e should
Correct Answer :-could
3)
Question Stimulus :-

Fill in the blank with the correct option.

You look after your old and sick parents.



* ought to

® can

°* might

* may
Correct Answer :-ought to
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The team got carried
throwing things around.

when they won the championship and started shouting and

* on
® behind
* away
* towards
Correct Answer :-away
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

The government is carrying test on growing genetically modified crops.

e from
® in
* away
* out
Correct Answer :-out

6)

Question Stimulus :-



Fill in the blank with the correct preposition.

The teacher drew a diagram showing how the blood flows the heart.

* about

®* under

® over

e through
Correct Answer :-through
7)
Question Stimulus :-

Fill in the blank with the correct prepositions.
His forefathers lived _____ Meerpur Maharashtra.
e from, to
® on,in
e at, in
® in, at
Correct Answer :-at, in
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* A number of teams
* js taking part
® in the world cup.
® No Error
Correct Answer :-is taking part

9)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® The honesty

e of my brother

* is beyond any doubt.

®* No Error
Correct Answer :-No Error
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® The Prime Minister and the President
® are visiting
* the town today.
® No Error
Correct Answer :-No Error
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* He doesn't spends much time with his family
®* because his career
® is the most important thing in his life.

e No Error



Correct Answer :-He doesn't spends much time with his family

12)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
®* Problems arises
¢ if the parents' approach
® to discipline is inconsistent.
®* No Error
Correct Answer :-Problems arises
13)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
e If I had noticed her,
* I would have
e greeted her.
®* No Error
Correct Answer :-No Error
14)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® She will lose all her friends
* if she continues to be talking

e about them behind their backs.



® No Error
Correct Answer :-if she continues to be talking
15)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you are not reading the newspaper,
e you should
* let other read it.
®* No Error
Correct Answer :-let other read it.
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said to me, "I was waiting for you”.

e He told me that he was waiting for me.

¢ He told me that he have been waiting for me.

®* He told me that he has been waiting for me.

®* He told me that he had been waiting for me.
Correct Answer :-He told me that he had been waiting for me.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The boy said to the fruit-seller, "Are all these mangoes sweet?”

* The boy asked the fruit-seller if all these mangoes are sweet.



* The boy asked the fruit-seller if all these mangoes were sweet.
e The boy asked the fruit-seller if all those mangoes were sweet.

* The boy asked the fruit-seller if all those mangoes had been sweet.
Correct Answer :-The boy asked the fruit-seller if all those mangoes were sweet.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Mother said, "Oh! It's a snake. Don’t go near it, children.”

e Mother exclaimed with disgust that it is a snhake and told the children not to go
near it.

e Mother exclaimed with disgust that it were a snake and told the children not to go
near it.

* Mother exclaimed with disgust that it was a snhake and told the children not to go
near it.

e Mother exclaimed with disgust that it was being a snake and told the children not
to go near it.

Correct Answer :-Mother exclaimed with disgust that it was a snake and told the
children not to go near it.

19)
Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

By whom was the window broken?
® Who breaks the window?
® Who has broken the window?
* Who broke the window?
® Who had broken the window?

Correct Answer :-Who broke the window?



20)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Roses smell sweet.
®* Roses are smelling sweet.
®* Roses are sweet smelling when someone smells.
®* Roses are sweet when smelt.
®* Roses are sweet when we smell.
Correct Answer :-Roses are sweet when smelt.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

I remember my father taking me to the theater.
e I remembered how I was being taken to the theater by my father.
e I remember I was being taken to the theater by my father.
e I remember being taken to the theater by my father.
e I remember having being taken to the theater by my father.

Correct Answer :-I remember being taken to the theater by my father.

22)
Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
e Kalidas is Shakespeare of India.
e Kalidas is the Shakespeare of India.
* Kalidas is a Shakespeare of India.

e Kalidas is an Shakespeare of India.



Correct Answer :-Kalidas is the Shakespeare of India.

23)
Question Stimulus :-
Fill in the blank with the correct option.

Jane requested Mary to bring ____notebooks for her from the stationery.
* few
* afew
® the few
* a little
Correct Answer :-a few
24)
Question Stimulus :-

Fill in the blank with the correct option.

There are _______ passengers in the compartment today.
* less
* little
* |east
* fewer
Correct Answer :-fewer
25)
Question Stimulus :-

Fill in the blank with the correct option.

The local football team is doing better.
o little
* a little

® some



e the little

Correct Answer :-a little

26)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

How do we resist change? We tend to respond to change the same way we respond to
anything we perceive as a threat: by flight or fight. Our first reaction is flight - we try
to avoid change if we can. We do what futurist Faith Popcorn calls ‘cocooning’: We seal
ourselves off from those around us and try to ignore what is happening. This can
happen in the workplace just by being passive. We don’t volunteer for teams or
committees; we don’t make suggestions, ask questions, or offer constructive criticism.
But the changes ahead are inescapable. Those who “cocoon” themselves will be left
behind. Even worse is to fight, to actively resist change. Resistance tactics might
include negativity, destructive criticism, and even sabotage.

Take a different approach to change. Rejecting both alternatives of flight or flight, we
seek a better option -- one that neither avoids change nor resists it, but harnesses and
guides it. Change can be the means to your goals, not a barrier to them. Both fight and
flight are reactions to perceiving change as a threat. But if we can change our
perceptions, we can avoid those reactions. An old proverb goes, “"Every change brings

an opportunity.” In other words, we must learn to see change as a means of achieving
our goals, not a barrier preventing us from reaching them.

What would be the most appropriate title of the passage?
e Change- A barrier in life
® Change-A threat to life
e How to Cope with Change

® None of the above

Correct Answer :-How to Cope with Change

27)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

How do we resist change? We tend to respond to change the same way we respond to
anything we perceive as a threat: by flight or fight. Our first reaction is flight - we try
to avoid change if we can. We do what futurist Faith Popcorn calls ‘cocooning’: We seal
ourselves off from those around us and try to ignore what is happening. This can
happen in the workplace just by being passive. We don’t volunteer for teams or



committees; we don’t make suggestions, ask questions, or offer constructive criticism.
But the changes ahead are inescapable. Those who “cocoon” themselves will be left
behind. Even worse is to fight, to actively resist change. Resistance tactics might
include negativity, destructive criticism, and even sabotage.

Take a different approach to change. Rejecting both alternatives of flight or flight, we
seek a better option -- one that neither avoids change nor resists it, but harnesses and
guides it. Change can be the means to your goals, not a barrier to them. Both fight and
flight are reactions to perceiving change as a threat. But if we can change our
perceptions, we can avoid those reactions. An old proverb goes, “Every change brings
an opportunity.” In other words, we must learn to see change as a means of achieving
our goals, not a barrier preventing us from reaching them.

What message does the writer want to convey through the passage?
® We should either avoid a change or resist it.
e Changes should be accepted positively as they bring Opportunities in life.
e We should keep ourselves away from any kind of sudden change.

® None of the above

Correct Answer :-Changes should be accepted positively as they bring Opportunities
in life.

28)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

How do we resist change? We tend to respond to change the same way we respond to
anything we perceive as a threat: by flight or fight. Our first reaction is flight - we try
to avoid change if we can. We do what futurist Faith Popcorn calls ‘cocooning’: We seal
ourselves off from those around us and try to ignore what is happening. This can
happen in the workplace just by being passive. We don’t volunteer for teams or
committees; we don’t make suggestions, ask questions, or offer constructive criticism.
But the changes ahead are inescapable. Those who “cocoon” themselves will be left
behind. Even worse is to fight, to actively resist change. Resistance tactics might
include negativity, destructive criticism, and even sabotage.

Take a different approach to change. Rejecting both alternatives of flight or flight, we
seek a better option -- one that neither avoids change nor resists it, but harnesses and
guides it. Change can be the means to your goals, not a barrier to them. Both fight and
flight are reactions to perceiving change as a threat. But if we can change our
perceptions, we can avoid those reactions. An old proverb goes, “"Every change brings
an opportunity.” In other words, we must learn to see change as a means of achieving
our goals, not a barrier preventing us from reaching them.



What will be a synonym of the word ‘barrier’?
* help
* obstacle
* aid
® assistance

Correct Answer :-obstacle

29)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

How do we resist change? We tend to respond to change the same way we respond to
anything we perceive as a threat: by flight or fight. Our first reaction is flight - we try
to avoid change if we can. We do what futurist Faith Popcorn calls ‘cocooning’: We seal
ourselves off from those around us and try to ignore what is happening. This can
happen in the workplace just by being passive. We don’t volunteer for teams or
committees; we don’t make suggestions, ask questions, or offer constructive criticism.
But the changes ahead are inescapable. Those who “cocoon” themselves will be left
behind. Even worse is to fight, to actively resist change. Resistance tactics might
include negativity, destructive criticism, and even sabotage.

Take a different approach to change. Rejecting both alternatives of flight or flight, we
seek a better option -- one that neither avoids change nor resists it, but harnesses and
guides it. Change can be the means to your goals, not a barrier to them. Both fight and
flight are reactions to perceiving change as a threat. But if we can change our
perceptions, we can avoid those reactions. An old proverb goes, “"Every change brings
an opportunity.” In other words, we must learn to see change as a means of achieving
our goals, not a barrier preventing us from reaching them.

What does the term ‘cocooning’ in the passage suggest?
®* To socialize and enjoy life.
®* To stay isolated or away from life and people.
®* To live in a comfortable and luxurious place.

® None of the above.

Correct Answer :-To stay isolated or away from life and people.

30)



Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

How do we resist change? We tend to respond to change the same way we respond to
anything we perceive as a threat: by flight or fight. Our first reaction is flight - we try
to avoid change if we can. We do what futurist Faith Popcorn calls ‘cocooning’: We seal
ourselves off from those around us and try to ignore what is happening. This can
happen in the workplace just by being passive. We don’t volunteer for teams or
committees; we don’t make suggestions, ask questions, or offer constructive criticism.
But the changes ahead are inescapable. Those who “cocoon” themselves will be left
behind. Even worse is to fight, to actively resist change. Resistance tactics might
include negativity, destructive criticism, and even sabotage.

Take a different approach to change. Rejecting both alternatives of flight or flight, we
seek a better option -- one that neither avoids change nor resists it, but harnesses and
guides it. Change can be the means to your goals, not a barrier to them. Both fight and
flight are reactions to perceiving change as a threat. But if we can change our
perceptions, we can avoid those reactions. An old proverb goes, “"Every change brings
an opportunity.” In other words, we must learn to see change as a means of achieving
our goals, not a barrier preventing us from reaching them.

What does the word ‘harness’ mean?

e Control and make use of something especially in a positive or constructive way.
* To avoid something deliberately.
* To keep away from it unknowingly.

¢ None of the above.

Correct Answer :-Control and make use of something especially in a positive or
constructive way.

Topic:- Hindi
1)

Question Stimulus :-
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Hfad a1 AT B 3 TR Ny fHaHT gar 2|
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2)
Question Stimulus :-
fFrafafaa e o wryde teH SUF i fad T agfawadt uxAl # Gdt fawer &1 7T B¢
“HeAT” 3R ‘AR’ P, UTRErd GHigT-8 #, a1 3ife gAId g8 % Frou & iR I ua F =Y gewv 3=t
3 TR 1 Y | "HUAr BT BT 1Y US 81 HeuAT W TS FU-ATIR-GIST BT B IT AT B 3id: HIETDHR BT
Y BT 21 W 3 Y U4 $ 3ifaf¥ad ®1og &1 U1 Ue WY 81 S &1 =9 JierEr & forg IRd #3998k
HAT | T g5 avge W T 91 UTe® I UM drelt I, HEOM, HiY, S8, AT MG HIF AT AP R
Bd 1 3 | YR ¥ 7 HTaue B UUTaT &t 3R ¥ & Rigra @) ufegr 1 wR ufiw & weEr-ser #
IHR & I FR-¥ Feiiersl &1 s U1 e | ge T 3R Ay g R s il w1y $t Imviiadr 39 5wb
3THe & =U & & Ul oM @l R 3iHe & fore g0 A3-118 Gor ysel 3k faderr wvgail #f 3@A v 81 39

UPR Hid THRN @@ ard & 9 & R 4T 91 Ure® dexd dHIREE & =0 § 95 | Had 3@ BT
3THe o faaeor $t T@A &1 Fdgd U g7 3l

R T} § Prow 3 fow Risia &1 ufast #1?
o I Rygia #it
* Ppa Risid @
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Correct Answer :-39 figia $it
3)
Question Stimulus :-
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4)
Question Stimulus :-
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Correct Answer :-3iY T&

5)



Question Stimulus :-

fFrafafad e o wFyde tes SUF i U T agfawad uxAl § wdt fawer &1 7 #¥)

“HEHT 3R ‘ARG’ PN, UTRATE FHigT-aF §, At e gArdl g8 6 F1ou & iR W ua 9 =Y geww 3l
3 TR T oY | "HuAT HTH PT I U 31 HeUAT § TS FYU-ATYR-GIST BT B T YidT B 3i: PR BT
Y BT g1 TR 9 S1Y U4 &b 3ifaad Hroq &1 HIg ual Ht g1 Seu=r &1 9 o1 & fore IRd a1 ard 3R
HAT | T g5 avge W AT 91 UTe® I UM arelt I, HEOM, HiY, IT8, AT ST U T PR
B1d 81 3 ¥ yRdg =R A yraue B yuTar § iR T & Rigra & ufanr #t1 R ufiy # ‘SeuAr-"seAr $1
gHR & A fR-4R aiiers! @1 o= yg va | ge T 3R Aiuve & W firs man w1 ot Iwviigar 39 &b
3THe & =U & g U o @l Ry e & fore g0 3-8 gor ysaelt iR faderr avgsil Y 3@ v 81 39
UPR Hfd qURN M ard & =0 & 3N HdT d1 UTe® dey dqUREH & U § IS 9 @il $ad 381 T
ATE B A F 3@ FT Fgga 4T gial 8l

®Tod W UTRaTd wHieT 89 ¥ waifie =i fry 9@ & A9 g8 82
* YTqUE Pt
o 9 frzia =t ufagr #t
o FH | MR wvitgar #i
* FHeudl 3R Afeaad &t

Correct Answer :-&e0T 3R Afeia 1

6)
Question Stimulus :-
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Correct Answer :-ga@l
7)

Question Stimulus :-
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8)
Question Stimulus :-
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9)
Question Stimulus :-
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Question Stimulus :-
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11)

Question Stimulus :-

“IR fezme &1 YHIER” &1 JHIRI® Usg gRII-

o T 9§ ®Ig &l
Correct Answer :-agfd®

12)

Question Stimulus :-

Fufafaa # @ f59 v A sHyRg I9™T 78 82

o TRIYUH
Correct Answer ;-3

13)



Question Stimulus :-
P v & o1 Iuwl &1 wahT gan 82

* IEHN
* AR
* IEIPpal
* 3P
Correct Answer :-3[@H

14)

Question Stimulus :-

frafif@d § ¥ $19-97 I 709 g 82
* TR
* IR
* SRR
* IR
Correct Answer :-9T6iTR

15)

Question Stimulus :-

- fowenl § @ sMe 3eg WE Ugaar ffda Fifog 2
o 3if@, aifdr, 3ief, 3ier
* 3f, 3/, 3iF, IR
o FM, yfd, ®f, FHam
* A%, Wi, AN-$IR, &I
Correct Answer :-3i, 3d, 3i, IRK

16)

Question Stimulus :-

AP Teg ‘3P’ & fqpeul § ¥ PIs UP fAded Tod @ SHBT 99 PIfore-



. g
* TW
° M
* Sl
Correct Answer :-§%T

17)

Question Stimulus :-
- W T & WY1 3G BT 79T Biferg?
o TRY HiS-gaT
* FEI-TING HieH
* TadI-3eiTor
o TRE HisH-4dr
Correct Answer :-g&i-TiRg Hie=

18)
Question Stimulus :-
“3AR-IFIR” G- & Tet -1 BT Ig- Pifore-
o fiwdr-are #
o g-Prwear
o HANG-HIH
o 3id:Hru-gl
Correct Answer :-firgar-aig #
19)

Question Stimulus :-

g dfeal few vTwT & dieiia @t 82

RE & s Y ufsS A e e



frar & anfe g € 2
e g5 s Wiy gafaar

foran & wfg @ g &

® ool

Correct Answer :-3[@f¥

20)
Question Stimulus :-

o ufm & SH-a1 SEeR § ?
T P UD |, T T UTS AT
BT AT o TS, T AR HRT

o IR PR
o RSP ScidT
o SfaaifRt PR
* WdE PR
Correct Answer :-3ifaaif& sEdR

21)

Question Stimulus :-
VS, RII% IR &g GiwpT SR aq1”
“OH, ¥ R 8, 9% ot U uaa & el a1

Iod Ufeaal § HIH-9T PR 22
* FTUP AADPR

o I AAPR



* IUHT SADPR
* IUN PR
Correct Answer -3 EdR

22)

Question Stimulus :-

o U7
Correct Answer :-Tlg
23)
Question Stimulus :-
o dfemal fow o 9 82
gt {49 & AR spme, forfy gheror 9 gws arem
i e s & o« gidl, d8u dsu fAe sftew @it
o g
* URST
o dué
o I
Correct Answer :-9\urs
24)
Question Stimulus :-
fra fifaa 6 areai= & & wuw 7 sifvw ffda &, v 9 Sfea w0 & srafRuT Fifvm)
(1)- |- &
(F)- AFIRS 7 &



R)- wat
(%)~ 3T WX

(@)- TRy g

(6)- 93 A TgT N b B

* gIdq
e ¥IYgHT
e gYAX
e gddv
Correct Answer :-3g @ v

25)
Question Stimulus :-
o fafea 6 arizi & & wuw 9 sifow ff¥a ¢ v o IR w9 & FafRa i)
(1)- 3msr WY
(3)- T& it fpa= &
(3)- artor JaTer #
(0)- WU Tpd & SATTD Pi
(@)- T &
(6)- Sifie 3TeRviia VIF UTd &l
* gIdd
e 39V T
® gAY
* gTaX
Correct Answer :-¥3d g
26)
Question Stimulus :-

“in order of merit” &1 Gﬁf%-

e TrYdi HH A



o IRTSATHA A
o A HH A
* TGP FUH
Correct Answer :-Jrgdar %9 &

27)

Question Stimulus :-
“rufierd” &1 Sift vaiy 2-

® Necessity

® Justified

® Urgent

® Unavoidable
Correct Answer :-Unavoidable

28)

Question Stimulus :-

M T B IART F9 Tt 32
* AR ¥ RFFTH W
* PIY T A & d1§
e OR fd =1 & UzEE
o yy i fRUfY Ia g W
Correct Answer :-8dR d RFG g4 W

29)

Question Stimulus :-

o ufm & S-ar @ 82

“RR IR doul i sifE @S @ Ferdl
g shufd RAR, sifa e ¥ umal”

® YHYdh



* SigHd
o qUN
e 4R
Correct Answer :-diHs

30)

Question Stimulus :-

a4 @ iy ame T o1 394 Sifoe-
o T TST APAR TR 3
o F1 Rig 98T AHAR AR §?
o 3R Rig I3 TPAR TR B
o T A IS T
Correct Answer :-374 & #1§ T8

31)
Question Stimulus :-

e ® @ Y19 aren aTe @1 T Fife-
e g A2
* Wi TR BIES-gRT Uil T4t 4t
* Ig BIF 82
o I AN A AT Wl el ST
Correct Answer :-3 @7 & 3T @ell g1 Sl

32)

Question Stimulus :-
Tdd g YIeg BT IR gRTI-

o S ydd UR g1 9rar 8t
o S ydd YR I qrel g



o W ydd U gHA Tl &
e S Udd UR I are 8t
Correct Answer :-5if Udd UX g4 are g

33)

Question Stimulus :-
Rt $1g sid & ga1” & fie e W faf@e-
. ofy
* 3Fd
o R
* AT
Correct Answer :-3Fd
34)

Question Stimulus :-

“HY T &P YTa B 1 I mﬁwﬂmmmwﬁwaﬁum%a’rww% g 8
\-sn?nélmﬁﬁaﬁﬁé&mmqﬁ%laﬁqﬁ&mﬁmm%aﬁ?q&mﬁmaﬂ% u‘s'ﬁué’r
3T TP BIEiaR | 9 BT Y YR HY AdT 21”

SRS TR $T HEGUT Hifre-
* 3JTERUI WTIdl BT Bl ol
* U9 % R R 8, A1 & Siid Siid|
o T vy Swad Bt ool 2
* R PIY BT AR T YT g
Correct Answer :-3X HY $T 3ER IT G 8l
35)
Question Stimulus :-

CANCELLED
T &1 gafard T 2-

o T



Correct Answer :-91d

36)

Question Stimulus :-
Rig =1 yufgar 8-

* IRT

* 3%

* I

e TN A HIg TS
Correct Answer :-9RT

37)

Question Stimulus :-
“TP AT ¥ i goraw PI o 5-
* IWD-gY BT AR T HIAT
o M TP @
o $o Wt T T U
® I[eTd PHTH HAT
Correct Answer :-35-§¥ &1 3R 9 B0

38)

Question Stimulus :-

e A F1 ¢ F forw Sugea geraw gie-
3[AFS quT & T T H THRIE BT AN vrrenraren LKL

® TTeT SSITHT

* TE-M&R



° Hag gadl
* AR # YRR HIAT
Correct Answer :-Tg-T&R

39)

Question Stimulus :-

"% 3R T RE g & dpiiod 1 3 -
o IUR A W HYT 3
o fisH T@ I
o Tfora faem & fFAquraT utw wem
o A ¥ wfE B
Correct Answer :-%7e+ # =i g1

40)

Question Stimulus :-

“g i 98 gay AT S dife &1 o @-
* IRTY FP U
o 3T GrpY ST SrpS T
® J3URTY HIb ATH FHY I
o IUIY PP Y ITd A HFAT
Correct Answer :-3URTtf 81 Iac 3PS femmn

41)
Question Stimulus :-
wgTTe # gl -
o Siieq #1 @S famur
o Sftaqq &1 ggq =
S T



* INTE UG
Correct Answer :-Silaq &1 ggq o

42)

Question Stimulus :-

o e TRt ya # gty e @ A g 2
* BB
e 4R ™
* YR W
o T A I T
Correct Answer :-§R

43)

Question Stimulus :-
¢ b N F YR TR VT fHA Fad 32

o 9 quif & TgE A
e 3 quif & T P!
* IR U & TG P
o T & DI T
Correct Answer ;-4 quif & TYg &

44)

Question Stimulus :-
g & 9 &9 9 31 3w T 22
° T
° WYl
* AR
. i



Correct Answer :-94ic

45)

Question Stimulus :-
frafafaa § S a1 2 g1 WR G BT S 82

. R
o TUq
o =UN
. T
Correct Answer :-3d@I(¢

46)

Question Stimulus :-

o o1 o §-
° SilsT U W
° uyYs
o fimar
o W@ P
Correct Answer :-SgI a1 g

47)

Question Stimulus :-

o Ty
o & oY T8

Correct Answer :-93d

48)



Question Stimulus :-
“dE ¥ WA B, WS § AR B F oipR §-
o fRIYTHH
o yifH=
o Sifaafed
o Sudaa ot
Correct Answer :-Yif=<HH

49)

Question Stimulus :-

w 3if e TR HETR T Wt arf 2-
* T femr
o ff@ ¢
o gl B Wig AT
o TUEM ST
Correct Answer :-cd @t Ht@ i

50)

Question Stimulus :-

YU AR 9 A1y el o1 |8t o 3-
e HITH UUH T
* WY gE YDA a1 TH WU §
* Ygd Y THM UAGR HAT AT
* WEP! TP WA FHEHT AT
Correct Answer :-I9 g¥ UHfd ard T 90 &

51)

Question Stimulus :-



fa=d qufarer & ‘SmaT are’ aof &9 & &2
o 3, 3

%3

3, &

® 3, 3r:
Correct Answer :-3i, 3

52)

Question Stimulus :-

@ i 5 sl BT IR TIE 72
o TR
°* ™
* Iz
* A
Correct Answer :-dd

53)

Question Stimulus :-
T A e IuHTl @ 997 U ©-

Correct Answer :-GHTA=AT

54)

Question Stimulus :-
SART & I &-

O§:



°g

e fa

e 3U
Correct Answer :-g
55)
Question Stimulus :-
Tady § gy B-

* T

° U

o 3

e
Correct Answer :-tqg
56)

Question Stimulus :-

JE’ P T qES M & A 19 fFE uwd T YA Bz
. aré
o I
o 3f
° TR
Correct Answer :-3f-t

57)

Question Stimulus :-

Tz @ 98 W g o -
° a%iﬂ'

® Tqdd



o dl
o Yyc
Correct Answer :-tidl

58)

Question Stimulus :-
9 vy & W g9 & el o U &1 TuA Fifore-
JuTf-Iurelt

* JUgd-3qUs

Suga-fadE
* UT-UG
* U-3UEd
Correct Answer :-Ug-3Usd

59)

Question Stimulus :-

3fer, uyy, YR A g & & s yafgarh 82
o ufx
* XMgq
* HRT
° &
Correct Answer :-HIT

60)
Question Stimulus :-
e ST waiaard -

o T

o I



e TN
Correct Answer :=-SagAm
61)

Question Stimulus :-
faei\ 2 &1 T B Rad wFA ulke-

e Ty
o T
Correct Answer :-Tiyol

62)

Question Stimulus :-

fa # @ F9-a1 ' g fudards 78 82
* FHIYH-IGR

Sa-4

e 3I3T-3U
o JIYMH-UdA
Correct Answer :-3¢3-39

63)

Question Stimulus :-

s f5d Fga §2
* T&pd q SUA U Xl BT
o =R wTwT & onw weEl Bt
o AEpd I Y UK B
° ITH 4 BIg T



Correct Answer :-3%pd d 30T §U Xl DI

64)

Question Stimulus :-
¥ & a@w 3= gfe-

o g

* IRUMT

* ddvc

e IRW
Correct Answer :-TIgug

65)

Question Stimulus :-

T HT A & B AU I9R 1 U Ry @

WHR1g sids®

TSR aeaH HT§ Ud

MUt WH MR

* T, TAIeY AT A&

Correct Answer :-Murd WAl MR

66)
Question Stimulus :-

IR &St @1 fawry garm @8-
o TR
o wrIeht &
* YW A
s WHH
Correct Answer :-304= 4

67)



Question Stimulus :-

gerdfipa faa ufier &t wreT 8-
o 3aft
* W
o HAlSl
o PRA
Correct Answer :-59
68)

Question Stimulus :-

8 N § AU gRT A=dT uTwd fra-it efRie yrwrsit @1 Ieea 82
* 14
* 20
° 22
* T A T T
Correct Answer :-22

69)

Question Stimulus :-
o & A 3 ®1 IR T B-
. Tl
* T
* g
® el
Correct Answer :-dg

70)

Question Stimulus :-



e fapedl # | SRE a9 FT 997 Hifoe-
o faorell R @ @
o fauch ove @ &
A BT HISH DT AT
o IS A yafe gt
Correct Answer :-fawielt TReT 36t 8

Topic:- General Knowledge
1)

Question Stimulus :-

Bull baiting (Jallikattu) is a traditional game in / “§& Sf&T” (FTEABPEE) --o----m-emv P1 U URUN® Q4 3:
e Tamilnadu / Hﬁl?F-l'l'g"
e Kerala / Cr|
e Karnataka / HlCPH
e Andhra Pradesh / 3isryasr
Correct Answer :-Tamilnadu / 9f@arg
2)

Question Stimulus :-

Match the following and select the correct answer from the codes given below: : R fou M

Pl & ATYR UR Hel ST BT 99 BN U9 [Hang:

List-I List-1I
1. Bihar a. Mumbai
2. West Bengal b. Hyderabad
3. Andhra Pradesh c. Kolkata
4. Maharashtra d. Patna
gfa-1 gfa-11
1. ﬁET\’ a. gaé
2. 9fgw §re b. §EIETG

3. iyucwr C. BIABTAT



4. UERTY d. 9e1
e 1-d,2-b, 3-c, 4-a
® 1-d, 2-c, 3-a,4-b
® 1-c,2-d, 3-b, 4-a
e 1-d,2-c, 3-b, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

What is a group of dolphins called as? / SITRpd & TP qHqg P T HET ST 82
e Pod/UTS
e Bulls/ TS
e Cows /T
o (alves /a@@j
Correct Answer :-Pod / OIS
a)
Question Stimulus :-

One horned rhinoceros is found in the following states ./ D 1 g AT

31 I<T] § UTE 9 &-

® Arunachal Pradesh and Tripura / 32UIId EI%'-'{I QH ﬁ'ERT
® West Bengal and Assam / ufde sme Td 3NH
® Arunachal Pradesh and Assam / 3PV U U4 3
* West Bengal and Tripura / 9f3W @ T fAqr

Correct Answer :-West Bengal and Assam / Uf3¥ §7Td U4 3H

5)

Question Stimulus :-



Gobar gas mainly contains which gas?/

TR 19 & YU ¥ 9 19 9 39 g1 82
® Carbon/ Plad
* Methane/ HIA
® Ethane/ 339

® Natural air/ '!TITﬁﬁ? qrg

Correct Answer :-Methane/ H139

6)
Question Stimulus :-

Which of these is the rarest blood group? / 379 & $I9 9T S YU T 82
® AB negative/ AB Tifeq
® O positive/ O uifeifeq
® A positive/ A qiferfed
® B positive/ B uifeifeq
Correct Answer :-AB negative/ AB iifed
7)

Question Stimulus :-

Which of the following state is NOT on the border of Uttar Pradesh? / g # ¥ S 91 I9
IR U B AT WX ALY 82

e Bihar/ ﬁ?ﬂ'

e Uttarakhand / 3XIRTEUS

® Jharkhand / IREUS
e Odisha / 3NfS=m
Correct Answer :-Odisha / 3Nfa=mm

8)

Question Stimulus :-



Where is the Jain Gomateshwara statue located? / ﬁh Tﬁ'ﬁ%’ﬂ? H:F\'f ﬁ’f @R‘[ %?
e Mysore - Karnataka / 893 - ®lc®
® Mandsaur — Madhya Pradesh/ HeHR- T U
e Shravanabelagola - Karnataka / 4TUIERNT - HlcH
® None of the above / Eﬁ | aﬁé T-F(ﬂ

Correct Answer :-Shravanabelagola - Karnataka / YTIUEATTIEAT - PAICP

9)
Question Stimulus :-

Agra fort is located in which State? / SINIRT T foar ﬁ‘f'@ﬁf %?
® Madhya Pradesh /H&I L'I%!!T
® Uttarakhand / STRIES
® Uttar Pradesh/3TR USRI
® Maharashtra/HgRIY

Correct Answer :-Uttar Pradesh / 3%% Uexl

10)
Question Stimulus :-

The Red Fort is in which among the following cities? / ﬁl’H o9 g PIRES ¥ o fear %?
® Agra / 3FRT
* Delhi / fawht

® Lucknow / 9913

® Moradabad/ YRTqIdiq
Correct Answer :-Delhi / feceit
11)

Question Stimulus :-

Find the odd one out / fAuH &T ECIC) B



® Shimla / MA@

® Imphal / THTA

® Meghalaya / I

® Agartala/ 3[TIRdclT
Correct Answer :-Meghalaya / g
12)

Question Stimulus :-

Elephanta caves is located in / EﬁﬁﬁT aﬁ 1ICFI'({ ue‘f @Iﬁ %
® Gujarat/JoRTd
® Punjab /4"
® Maharashtra/ 'FIERTE
® Uttar Pradesh/3TR USRI

Correct Answer :-Maharashtra/ dgRTY

13)
Question Stimulus :-

Find the odd one out / fawq &1 g7 ¢
e Canberra/ $aRT
. Kenya/a"ﬁm

® Dhaka / GThT

e Paris/URY
Correct Answer :-Kenya / a1
14)

Question Stimulus :-

Find the odd one out / awhsg’amﬁm?h
o Canberra/%r"lw



® Kenya/ &far
® Dhaka / GIPI

e Paris / U9

Correct Answer :-Kenya / &f=dT

15)

Question Stimulus :-

Which one of the following is a Great Circle? / ﬁ'ﬂﬁ‘l’@ﬂ # Qo de afba %?
® The Equator / Q{HW
® The Tropic of Capricorn / HPHR T
® The Arctic Circle / 3Th{e®H Hed
® The Tropic of Cancer / P @l

Correct Answer :-The Equator / YASARE]

16)
Question Stimulus :-

Which left-handed batsman has scored the most Test runs for India? / AT A YRT & ﬁl‘E
¢ B1Y & P9 Tiare 7 a9 SISl I §-91¢ 82

e Ajit Wadekar / 3ifoid ars@?

e Gautam Gambhir / Td# THR
® Ravi Shastri / I R

® Sourav Ganguly / ?ﬁ?ﬂTﬂ'ﬂ?ﬁ

Correct Answer :-Sourav Ganguly / TRq TR[el

17)
Question Stimulus :-

Who among the following is called ‘Jamaica Sprint King’? / g o ¥ frae) e 1 8ie fém bel SIrdl %?
® Chris Gayle / forg @

® Brian Lara / 919 dRT



® Usain Bolt / 3@7[ Tsﬁﬂ'
® Viv Richards / 919 RIS

Correct Answer :-Usain Bolt / 39 diee

18)
Question Stimulus :-

The Arjuna award is given for which category/ f5a &.']3[ H Glﬁq URIDPR ﬁ'qT ST %?
* Politics / TSI
e Peace / XMifd
® Literature / WI'%W
® Sports / Qqd
Correct Answer :-Sports / Td
19)

Question Stimulus :-

Which year did the Indian Hockey Team participate for the first time in the Olympic. / 3Nfeifue & R aﬁ Qd 3
59 ad & unT foram um?

* 1914
* 1918
* 1928
e 1938

Correct Answer :-1928

20)
Question Stimulus :-

The 2016 Sultan Azlan Shah Cup is held in which country? / 2016 g SIAT ME HU b ¢ | SymAIford
forar

® Pakistan / UTfp&dT
® Germany / KL



® Malaysia / HEIRMT

* India/ HIRA
Correct Answer :-Malaysia / HOTRMT
21)

Question Stimulus :-

Who is the founder of Infosys company? / E'U'ﬁﬁlﬂ HUA & RS B %'?
* Sunil Mittal / g1 e
e Sachin Bansal / IfeF §9d
® Shiv Nadar / {31 ATeR
® N R Narayanmurthy / T 3R :l'RTCI'UTJIﬁ

Correct Answer :-N R Narayanmurthy / T 3[R W'UTﬂ:ﬁf

22)
Question Stimulus :-

Find the odd one out / fAWH &T gATd B

* Jeevan Lakshya / Sita< @1&d

¢ New Endowment Plan / qqs‘n?ra I

® Aadhar Card / 3TUR 351:‘;;

® Jeevan Rakshak/ Sia= Y&
Correct Answer :-Aadhar Card / {TYRR H'Tl'é'
23)

Question Stimulus :-

Yuan is the currency of which one of the following country / 31T+ fru ¥ 3 g e ot Hal %
® Pakistan / qrferear=
® Sri Lanka / Gl

® Russia /YH



® China /94
Correct Answer :-China /39
24)

Question Stimulus :-

Which company has acquired US-based jobs portal Monster on August 9, 2016? / foa s+t
T 9 A BV, JUH UG B3 Nida Ui=ex &1 Sfrrgvn farar ur 2

° Accenture/t{’al'\ﬁ'il'\r

e Randstad /¥8&S

e KPMG / &dlussh

® XIM, Inc. / TTHITETH ,ATSTAH

Correct Answer :-Randstad / S&S

25)
Question Stimulus :-

When was the Treaty of Amritsar signed?/ {3} & 3JdY IR FHTER Hd ¢ 2
® 1825
® 1809
* 1848
* 1844
Correct Answer :-1809
26)

Question Stimulus :-

Amartya Sen was awarded the Noble Prize for his work in . [ =mmmm—————— H 3 FH & ﬁﬂ! A A9
Tad AR | Wi fd e

® Literature / HT%W
* Physics / Wifa@t
e Peace / Xifd



® Economics / 3JRA

Correct Answer :-Economics / 3IJSRd

27)
Question Stimulus :-

Who is the 8t" Secretary-General of the United Nations? / ¥g& ¥ & 8 § ARG P U?
* Ban Ki-Moon / Eﬂﬂﬂtﬁr
e Kofi Annan / BB A
® Boutros Boutros-Ghali / ¥ W—ﬂﬁ'ﬁ
® Javier Pérez de Cuellar / AfdaR URwT g’fﬁ'ﬂﬂ

Correct Answer :-Ban Ki-Moon / §F &t J7

28)
Question Stimulus :-

Who was the first Secretary General of the United Nations? /ﬁ'ﬁﬂ?‘[ MY & q?ﬁ usmﬁﬁ' S A?
. BanKiMoon/a'F-I'aﬂHFI'
® Trygve Lie /a'rm 4]
® Shashi Tharoor / TR W
® U Thant /g Ui
Correct Answer :-Trygve Lie / ¢RTal ot

29)
Question Stimulus :-

CANCELLED
Who wrote the famous book ‘Indica’? / RIS Jxddh "{%37[’ forae forat B

® Abul Fazal / 3¢ Bold

® Ibn Batutah / Sd dqdTl
* Aba Rayhan al-Biriini / 3§ Y& 3d a1



® Timur / ?qu

Correct Answer :-Abi Rayhan al-Biriini / 3§ ¥g 3[d 9%

30)
Question Stimulus :-

The leading state in producing paper is / PRI Ul H 3RIvit ISy %:
® Bihar/ ﬁ?ﬂ'
® West Bengal / uf$rT e
* Karnataka / $ICH
® Orissa / 3=

Correct Answer :-West Bengal / Uf3[H S7TTel

31)

Question Stimulus :-

The capital of Afghanistan . / SBIATMHE Bt AT

e Kabul / FEd
® Herat / %W
* Kandahar / YR
* Ghazni / ST
Correct Answer :-Kabul / &1qd

32)

Question Stimulus :-

The Panchayat Raj is a tier system / T M6l ==----- T YTt %I

® One/ U
® Two/ a

® Three/ T‘ﬂT'T

® Four/dR

g



Correct Answer :-Three/ 919

33)

Question Stimulus :-

Barack Obama belongs to which party? / dRId Stamr f59 urdf & siafa ama %'?
® Democratic Party / SHIhfe® urdf
® Republican Party / frufere ardf
® Libertarian Party / forazefeas urdf
® Green Party / W urdf

Correct Answer :-Democratic Party / SHISh{C® UTSl

34)
Question Stimulus :-

The Union Government has recently launched Ganga Gram Yojana to develop 1600 villages
along the banks of River Ganga in the Indian state of / %l WR®R 1 819 81 # fb9 HRA I=T
T T YT IS BT Y&U0T HX1600 ATHI I 71T & 9 fhaRI uR q9rm?

® West Bengal/ I S
® Madhya Pradesh/ H U%QT
e Uttar Pradesh/ ST% WeXT
® Gujarat/ J[oRRTd
Correct Answer :-Uttar Pradesh/ 3T WX

35)
Question Stimulus :-

Field Marshal is the highest rank in WA O[S | 1 f— P 3=dH UG gl
® Territorial army/ Iﬂ%ﬁﬁ? T
® Air force/ dIg e
e Navy/ Ik

® Army/ YA-JHAT



Correct Answer :-Army/ Y@-31

36)

Question Stimulus :-

Who composed the national song of India “Vande Mataram”?/ HRd & ?'I'@'q"ﬁ?l "a'étn?m:[" & waREar B9 A2
e Rabindranath Tagore/ IA-GATY TR
® Bankim Chandra Chatterjee/ CIE R BT Teolt
e Bhai Vir Singh / 4TS 9% Rig
® Amrita Kaur Pritam/ 3{HdTl DR Wad

Correct Answer :-Bankim Chandra Chatterjee/ SfpHTS Teoil

37)
Question Stimulus :-

The Roof of the world is . / g &t Ba gl

® The Alps / 3TeSH Udd
® The Andes / Q@Trl
® The Himalayas / IELIGE
® The Pamir Plateau / IR & R
Correct Answer :-The Pamir Plateau / UTHR & U8R

38)

Question Stimulus :-

Where was the first Sermon of Gautama Buddha delivered?/

a9 g &1 Ugdl Uaa- Hal fadr1 41 Y12
® Mathura / HYRT

® Varanasi / RTORAL
® Gorakhapur /Tﬁmg?

® Sarnath / IRATY



Correct Answer :-Sarnath / dIRATY

39)
Question Stimulus :-

Which naval dockyard launched the Indian Navy’s ‘underwater vigil system’? / &g mnﬁﬂmﬁ@mm Fu & =
AR yomeft 1 guRY frar @2

Visakhapatnam dockyard /ﬁmmm

Bombay dockyard /m RS

® Goa Shipyard Limited /TﬁﬂT Ui wior ferfies

® Mazagon Dock Limited /Wmm
Correct Answer :-Visakhapatnam dockyard / ﬁvrmm
40)

Question Stimulus :-

Which Institute has won the National Intellectual Property (IP) Award 2016 / o IR A ?Tfrq Eﬁ@? Huer
)SMEUt ( REPR2016 SiHdT 82

® Indian Institute of Technology (IIT), Dhanbad / YR et IwiE )anésnéé’t (, Y41dTq

® Indian Institute of Technology (IIT), Kharagpur / YR MRt dwi= )6n§srr§‘c"t (, @SR
® [Indian Institute of Science (IISc¢), Bangalore / YR fagm 9= )an's‘&n'sfw G CRIGIES

® Indian Institute of Technology (IIT), Delhi / YR Menfiedt g=m= )\ﬂ'l%\ﬂ'lgﬁ (, feeen

Correct Answer :-Indian Institute of Technology (IIT), Kharagpur / HIRd et S

)STEIMEE(, @STYR

41)
Question Stimulus :-

In which state is the Himalayan Kumbh organized in every twelve years?/ 3‘-{3[ ¥ foa wsa o
wfd 9Rg auf & fRurerdt 1 ud mafora far e 82

* Himachal Pradesh / fg0Taa Uawr

e Uttarakhand / STRTES

e Sikkim / fafeen



e Jammu & Kashmir / S 3R HHR

Correct Answer :-Uttarakhand / 3TRIRGS

42)

Question Stimulus :-

The book titled “Indomitable Spirit” is written by ./ “Seiiead wifve” qwa® w1 forfaa
gl

e Dilip Kumar / fdelg $UR

® Tushar Gandhi / IR mieh

® Dr A.P.J. Abdul Kalam/ 8 T.41. & 3[gd ™

e Arundhati Roy / 3R=8fd 319
Correct Answer :-Dr. A.P.J. Abdul Kalam/ ST T.1. S 3fsgel Ham™{
43)

Question Stimulus :-

Kerala Varma, a prince, is credited with naming which dance form? / f& & I el & ATHBRT BT 7, ICIPHAR
el gt o fear s 82

® Salsa / qTAAT

® Kathak / P

® Bharatnatyam / HIdTCIH
* Kathakali / YB

Correct Answer :-Kathakali / YDl

44)
Question Stimulus :-

In which of the following places did APJ Abdul Kalam pass away? / A9 & @ #gl T.i.&
G PATH DT ggid gorl ?

® Assam / 3gH
® Shillong / Rrai
® Mizoram/ ﬁmﬁw



® Bangladesh/ IR IR

Correct Answer :-Shillong / I

45)
Question Stimulus :-

Which country faced a military coup in July, 2016 ? / SdT$ 2016 ® fby 331 # /=9 &1 Uae
g3m?

® Yemen /JHA
® Turkey/ T@l
® Iran/ s‘?ﬂ
® Jraq/ g’ﬂﬂ?
Correct Answer :-Turkey / T®1

46)
Question Stimulus :-

Who received the ‘Yash Chopra Memorial Award’ in 20162 / 2016 ¥ ‘U IUST AWRTT Tars’
f5a vem far mar?

® Jaya Bachchan / STUT I
e Salman Khan / |HdHF 9H
e Rekha /@Il
* Sridevi/ ficdt
Correct Answer :-Rekha /3@l

47)

Question Stimulus :-

FERA stands for J

® Foreign Exchange Regular Act/

B TR WeR Ta



® Foreign Exchange Regulation Act/
B TR WA Tae

® Forex Exchange Regulation Act/
PR TR WARH Tae

® Foreign Exhibition Regularly Act/

B TfRAfa=e WeRe tae
Correct Answer :-Foreign Exchange Regulation Act/ 1% Ualol i‘ﬂﬁ?{ﬁ T

48)
Question Stimulus :-

National Safe Motherhood day is celebrated on? / ?T@'q '\ﬂTf\&l'a HIdcd %W d AT STl %?
e April 19/ 310 19
e April 21 / 3104 21
e Aprill/3Md 1
e April 11 /30 11
Correct Answer :- April 11 / 304 11
49)

Question Stimulus :-

You are seeing the Duandhar falls and are planning to go and visit the Marble rocks close

by. You are inﬁ.%_/ AT YATYR W I8 & R WTHER Bt T T ERT HA BT AT a7 @ &1 3017 ---
.............. I

* Ujjain/ 3@

i Morena/'ﬂi*ﬂ

® Bhedaghat/ NSTHTE
® Orchcha/ 3BT

Correct Answer :-Bhedaghat/ WSTHIE

50)



Question Stimulus :-

How many zeroes would you write after one, if you had to write one crore in numerals? / 3[R 3TUHT T 3’_@3 3P

Rrarg @ 1 & a1e fraq = @ u3d 2

Four / TR

Five / Uld

® Six/ 9¥c

Seven/ HId

Correct Answer :-Seven/ 9ld

51)
Question Stimulus :-

Which of the following points lies on the X-axis? / *ra & ¥ &1 9 fag x-s1ef W fR@ &
o (-8,0)
* (-8-8
* (0,8
* &1
Correct Answer :-(-8,0)

52)

Question Stimulus :-

o
The temperature of Hyderabad city is in the month of May was 1139 F. If F= 5C+32, find
9

the temperature in Celsius. / %ERTEITE.’ W?ﬂﬁg & 'Fl’eﬁe[ H agEE 1130 F U1l qﬁ F= EC+32 %, ar
IfRraw § 9 e

o 40"
* 46"
o 440

o 450



Correct Answer :-45"

53)

Question Stimulus :-

The reciprocal of a negative rational number ______ / BUIHD uRAT JW-AT BT CEER
® s a positive rational number / YATHSD TR d= @?ﬂ %

® s a negative rational number / BUTHD qﬁﬁ'ﬂ' =T ﬁ?ﬂ %

® can be either a positive or a negative rational number / Y-THD T BUMTHD Ay S # 9 aﬁé i 33[
ol §

® There is no reciprocal for a negative rational number / BUNTHD TRag dEm & o aﬁé a¥qshH qﬂ Eﬁ?lT
Correct Answer :-is a negative rational number / FBUNTHD TR IErn ﬁ?‘IT %
54)

Question Stimulus :-

A histogram has 7 bars of varying heights. The fifth bar represents the
maximum frequencies. The range of this frequency distribution table can be

classified as . / U 3gafa # fafta Sargal & 7 uts 21 qﬁaTquf
aﬁwmﬁﬁm%lwmﬁwm%haﬁwwmﬁﬁrw

&
® Average / Nq
* Below average / 3Nea & HR

® Above average / ANId A FR
® Extreme / 3cdd

Correct Answer :-Extreme / 3cdd

55)
Question Stimulus :-

What is the supplement of 70°? / 700 &1 ARS T 82
e 110°
o 200

e 9o



e 70"
Correct Answer :-110°
56)

Question Stimulus :-

If the sum of three angles of a quadrilateral is 265 °, then the measure of its fourth angle is

5 . / Ofe aguds & &9 For BT AnT 265° 7, A IYF AY HIVT BT AY

® A right angle / THPIT
® An obtuse angle / 3P PIoT

® An acute angle / < Caly|
® A reflex angle / ferad ®Yor

Correct Answer :-An obtuse angle / 3@ BT
57)
Question Stimulus :-

CANCELLED

A rectangular water tank is 4mx2mx3m.What is the capacity of the water tank? / U 3{TIdTHIR =t B Sl %
a2ttt | Tt FT @t BT gmar w72

® 90000

® 24000000

® 24000

® 2400
Correct Answer :-24000000
58)

Question Stimulus :-

A square and rectangular field have same perimeter. If one side of the square field is 40m
and the breadth of the rectangular field is 30m, find the length of the rectangular field. /
TP it 3R 3mad &5 1 A uRum 81 afe aif & @Y v Yo 40 1t B, 3R uaeR &7 # disig 30 W
3, df ATAAIPR &7 1 awars Feiferd|

® 80m



® 50m
® 60m
® 40m
Correct Answer :-50 m

59)

Question Stimulus :-

Gouri took a loan of 50,000 rupees at the rate of 10% from a bank and bought a scooter. After three years she cleared
her loan. How much money she would have paid in all? / TR A50 , 0003 BT A 10 YR F R W S I foram ok
TP WpeX TGT O A1d 918 I B9l gbT 601 .39 ol fHars faa-T =it 541 ot ghft?

® Rs. 15,000 / ¥ 15,000
® Rs. 55000 / ¥ 55000

® Rs. 65,000 / ¥ 65,000
® Rs. 60,000 / ¥= 60,000

Correct Answer :-Rs. 65,000 / ¥ 65,000

60)
Question Stimulus :-

If 30% of a number is 210, what is 25% of the same number? /?Tﬁ' TH HSAT FT 30 ufer=rd 210 %, a 3t I=mn
BT 25 Ufa=Id &1 82

* 700
° 525
° 175
300

Correct Answer :-175

61)
Question Stimulus :-

The instrument used to find the relative density of liquids / T8 IUHVI ol &9 & 3MUfd® g9
P J1d $34 A UG g1 8



e Barometer / aTga'IETITﬁ'T
e Hygrometer / STearATdY
e Relative density instrument / 3MUfé® -7 IUBOT
e Hydrometer / S&Ad YGHTUI
Correct Answer :-Hydrometer / 3&dd g-cqHTd}
62)

Question Stimulus :-

CANCELLED

Which statement is TRUE about sample P consisting of 1 g of Hydrogen gas and sample Q of 1 g of water? Both of
them / Fra & A 9 91 HY W 3 9l S p A 1 719 5o A9 SR Auad  F 1 719 U g2 3
g

® are fluids. / d¥d Tc,‘T?f %

® occupy same volume. / HHTT ATAdA WA T

® contain same number of molecules / dRTAR HIAT : | 3] _Eaﬁ %

« completely fill the container. / UTH &I YUl ®9 § W= a1

Correct Answer :-are fluids. / d¥al Uard @

63)
Question Stimulus :-

Twinkling of stars is due to / aﬁaﬁm EFIW%

o scattering of starlight / aRI #1 A=A BT fo@==n

e atmospheric refraction of starlight / aRI P A= BT HTQTI?;?ﬂ'C[ g
« multiple reflections by the ionosphere / TUAHSd A &g Ufdfdd

« vibrational movement of stars in the sky / 3THRT # dRI & HUF BT T

Correct Answer :-atmospheric refraction of starlight / TRl @1 IR BT AGHSAT

64)



Question Stimulus :-

When the sound becomes louder, which property of the sound is increased? / STd yafy ?ﬁr ﬁ EIGI| %, a safy &1
P4 A1 uret g¢ ST @2

e Speed /T

e Amplitude / ATH

ot Frequency/mﬁl

® Wavelength /?‘R"ﬂ%?[q
Correct Answer :-Amplitude / 3TIH
65)
Question Stimulus :-

During filtration process, the particles which remain on filter paper is called / Ferede uferar & EaTF-I, G|

P S fwRig SIS W TE A § FEAd §
* solvent / faema®
* residue / 3ARY
* filtrate / fARRIG
* solute /faa

Correct Answer :-residue / 329

66)
Question Stimulus :-

Wh_en we breathe into lime water, it becomes milky due to reaction with / SId gH ?ﬁ & gt
# 9 ad §, d@t 98 & A1y fUfshar & FRUI g g1 i §

® Carbon dioxide / PTIT SSATFATSS
® Oxygen / St

® Water vapour / SITdT™]

® Sulphur dioxide / PR SIS ATFISS

Correct Answer :-Carbon dioxide / BT SISATFATSS

67)



Question Stimulus :-

Windows of cars & Aero planes are made from the material / BIRY aYUT '&'ﬂ'li \_rl?ﬁﬁ @t fv@?:'ﬁ?!ﬂ ffAd 3 fea
arft & et gt 32

® Thermocol / ?ﬂﬁaﬁﬁ
® Perspex / T\‘ﬁﬂ'\q

* Teflon / U

® Melamine /ﬁ'ﬂ'ﬂ:l'lg:f

Correct Answer :-Perspex / THOGT

68)
Question Stimulus :-

The function of vacuole in plants is / e & Rfdaer &1 ord %
® To keep the cell turgid / HITAPT B WId IGT

® To store chlorophyll / FARIP A JUE BT
® Tt is the site of metabolic reactions in the cell / HIfPT A gg Iurarft ufaferarsit &1 = %
e Secretion of enzymes / TSITSHI &1 feperT

Correct Answer :-To keep the cell turgid / BIRIDT B ThId TG

69)
Question Stimulus :-

The largest lymphatic organ in the bodyis__ / TRR A g del aITBT 3T %—
® Spleen / @I
® Tonsils / TI?@%W
® Thymus / YTgHA
® Adenoids / PUSRTAD

Correct Answer :-Spleen / &g

70)

Question Stimulus :-



Why do plants need Nitrate ions? / Ut @I ATgee Ml B TaRTHdT FI il 82
® To prepare Proteins / MAIT dUR &1 & forw
® To prepare sugars / [T AR I & forg
® To prepare fats / T3 B AR HA & g
® To prepare cellulose / ATAT TR F+ & forw
Correct Answer :-To prepare Proteins / WidI< dOR #1 & fog

71)
Question Stimulus :-

Age of 5 boys 13,14,15,16 and 17 years respectively. Find their average age? / 5 Fl?ﬁﬁﬂﬁ
3R] HUIM: 13,14,15,16 3R 17 I g1 ITPT a0 Mg F1d B2

* 16
° 15
° 14

® None/ aﬁi qﬁ

Correct Answer :-15

72)
Question Stimulus :-

The average of all odd numbers up to 100 is: / 100 T gt fauw Termei &1 it %:
°* 40
® 50
®* 60
e 70
Correct Answer :-50

73)

Question Stimulus :-



A is two years older than B who is twice as old as C. If the total of the ages of A, B and C be 27, the how old is A? / A,

B ¥ €I OT9 531 7, oriat 3mg ¢ &Y g #t gt 31 4fe A, B iR ¢ 7 oot v 3mg 27 81 A B g AT 2
° 10
° 12
° 15
° 18
Correct Answer :-12
74)

Question Stimulus :-

CANCELLED

A is twice and B is 5 times as old as C, Two years ago, B was twice as old as A and C together. Find their present
ages / A B 3T C DI AT Pt gL § 3R B B 3T C Bt 3 B 5 T 31 S ATA UGA, B Bt MG A 3R C
@ oA ARG DI gL A Jft B aeduT= Iy Jra HI
® 30,21,6
® 24,32,6
® 21,30,6
* 21,32,8
Correct Answer :-21, 30, 6
75)
Question Stimulus :-
5/t of 32 is 32/ BT/5 §31 2:
e 25
* 30
e 20
® 35

Correct Answer :-20

76)



Question Stimulus :-

Six Seventeenth of 136 is how much more than one third of 60? 136 / PT DO mﬁ 60 ,%? Udh ﬁmﬁ Y faar siftre

2
° 28
® 26
°* 20
® 25
Correct Answer :-28

77)

Question Stimulus :-
What is the next expression in the series? / 4@dT # 30Tel feafdd w9 A grft?

aabccb, babcca, bebcaa,
® cabbac
® abcabc
® baabcc
® bcchbaa
Correct Answer :-bccbaa

78)

Question Stimulus :-

There are three sections A, B, and C in an examination and it is necessary to get at least 40% of the total marks to
pass the exam. A candidate got 84 out of 120 in Section A and 40 out of 150 in Section B. State the minimum score

the candidate has to obtain out of 180 in Section C in order to pass the examination / .U 'CI'\&&IT ﬁ?ﬁq@A, B
T4 C g Td utem ® Sivf 819 & I 3 oich &1 3 I FH 40% AT ATa=Gd 8 | T 31 3 Ts A T120
T q 84 TT WS B H 150 H & 40 U fo5d | 98 <ga 3i® gare o1 radf ot wdten ¥ fFrmmgar sl g
& fore ws ¢ o $a 180 3l O A Urw e 3

* 32
® 44

® 56



* 64
Correct Answer :-56
79)

Question Stimulus :-

4% of 800 is 800 / BT 4% B:
° 42
e 32
* 48
° 5
Correct Answer :-32
80)

Question Stimulus :-

Three persons are walking from A to B. Their speeds are in the ratio of 4 : 5: 3. The time

ratio to reach B will be / T AR A ¥ B T Ta T &1 I MA ST 3JUT 4: 5: 381 B T
Ugad & T 99y &1 SrguTa ghm

® 4:5:3

® 15:20:12

® 15:12:20

® 3:5:4
Correct Answer :-15:12:20
81)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / ¥ IR udl # & &9 41 A 33 T ud & TheH U 8] 82

Adirondack Rock & River Guide Service, Inc.
P.O. Box 219

Keene, New York 12942



(518) 576-2041

(i) Adirondack Rock & River Guide Service, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

(ii) Adironduck Rock & River Guide Serivce, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

(iii) Adirondack Rock & River Guide Service, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

(iv) Adirondack Rock & River Guide Service, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

® i
® jv
Correct Answer :-ii

82)

Question Stimulus :-



The series given below contains a sequence pf alpha!bets, numbers. and symbols. Identify
the incorrect combination: / & & 7$ g & sier, H@mait 3R ! &1 HH IfMiferag | Tad

W%ﬂﬁt{:

i. yc6rox&dfqw?7 il. yc6roOx&dfdw?z
iii. yc6rox&dfqw?7 iv. yc6rox&dfqw?
LA |
® i
® jii
® v

Correct Answer :-ii

83)
Question Stimulus :-

A T.V set is sold for Rs.8800 at a loss of 20%. Find its cost price? / Th AdH Ac 20 Yo & RCRIGH & 91y
FUT 8800 W ST TTI IHST AN Hod [T B |

* Rs. 11,000 / =T 11,000

« Rs. 12,000 / ¥0d 12,000

® Rs. 9,800 / FTY 9,800

« Rs. 9,800 / ¥Ud 9,200
Correct Answer :-Rs. 11,000 / =99 11,000
84)

Question Stimulus :-

Find the next term in the series 34,45,56,67,__ /43¢l § 3RTAT U {1 HIfOT 34,45,56,67,__
° 78
° 8
°* 73

° 84



Correct Answer :-78

85)
Question Stimulus :-

Find the next term in the series 3,6, 4, 8, 5, , 6 /%@dT § 3ATAT UG |G BIT 3,6, 4, 8, 5,

, 6

Correct Answer :-10

86)
Question Stimulus :-
If “TOM POM YUM” stands for “RON IS CRYING”, “SOM YUM PIN” stands for “HARRY IS LAUGHING”, “CIM FEM SOM”
stands for “ROMA LAUGHING TOO” then which word stands for PIN? / Tﬂ%’ “TOM POM YUM” YclTeoed &BdT %
“RON IS CRYING” Y, “SOM YUM PIN” Ucltehed YT @ “HARRY IS LAUGHING” @1, “CIM FEM SOM” UciTdred Bdl
T “ROMA LAUGHING TOO” Y P11 T Teg PIN DI Uclhed Hdl &2

* RON

° Is

e ROMA

® HARRY
Correct Answer :-HARRY
87)

Question Stimulus :-

In the sequence shown below, which figure comes next? / I fewr T wu A SrTedt Gﬂﬁ Akl gifl?

\ W

iv



Correct Answer :-

88)
Question Stimulus :-

If October 3, 2005 is a Monday, what was October 3, 2003 / Tf¢ 3[FgaR 3, 2005 WHAR 8, @1 FgaR 3, 2003
a1 o7

® Monday / LIGEIR
® Friday / J[hdIX

® Saturday/ I arR
® Sunday/ AR

Correct Answer :-Friday / Y[shdI}

89)



Question Stimulus :-
A x B means A is the mother of B/ AxB ®THdAd ¢ A, B ®I AT &
A / B means A is the husbandof B/ A /B GTI'FI?I'QTGI%A, B Wqﬁf%
A + B means A is the fatherof B/ A + BH)‘I'H?IFW%A, Bﬁ?ﬁ?ﬂ?
In which of the following cases, P is the father of Q? / fadafea ﬁﬁ, P, Q ¥ foar 82
®* QxM/P
®* PxM/Q
® Q/MxP
® P/MxQ
Correct Answer :-P/MxQ
90)
Question Stimulus :-

CANCELLED

Pointing to a man, a lady says, "This man’s son’s sister is my mother-in-law.” How is the
woman'’s husband related to the man? / T& 3G Ht 3R FRT HId T, TH I A Hgl, "9 ATSH!
P 9¢ B 98, AN IR 317 TN P71 ufa SneHlt A A GdfRa 82

® Grandson / UidT

e Son/del

® Son-in-law / QIHTG

® Nephew / Yefter
Correct Answer :-Grandson / Urdl
91)

Question Stimulus :-

Which of the following is the mirror image of INDIAN? / ﬁ"}l’ Ta Cac 9T INDIAN BT a'CfUT yfafars %?

AIdMI

MAIAHI



HAAQUI

o HAIQAH

Correct Answer :_P[hlﬂliﬂ

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / T U9 ¥, UgQ Mg &1 g Vg & A1 B TR A I3 Wy 21 afe TR g 19 g &
Y I UPR HT HaY gHT ARY, o AT e HT:

School : Teacher :: Football : ? / f3=me™ : 3AU® :: Pedra : ?
® Sport / ad
® Goal / ma
® Keeper / HIR
® Coach / CIE
Correct Answer :-Coach / 3

93)

Question Stimulus :-

In how many ways can 5 members be selected out of 10 members, so that two particular members must always be
excluded? / 10 HEGHI § ¥ 5 GG T 994 a1 UoR # 81 91 § o fs 31 fafkre wew e s ud |da
SR TG HPh?

o 52

® 56

® 60

* 604
Correct Answer :-56
94)

Question Stimulus :-



In a certain formation, Sushil stands fifth to the left in a row of boys and Mohamed stands sixth from the right, If the
two boys interchange their positions, Sushil would be thirteenth from the left. What will be the Mohamed’s position

from the right? / el YT &, Gefer Wt @1 ufds & arfY ok ufad R R WeT giaT § 3R Higwig Rl
ﬁg?gfmﬂw@g%mgg?nﬁmmmwaﬁé?ﬁmﬂaww@rﬂﬂw‘f@mlmﬁ
° 14
o 13
¢ 12
« 7
Correct Answer :-14
95)

Question Stimulus :-

Sangeeta starts from her house and travels 10km towards south and then travels 4 km rightwards. She then travels 7
km leftwards, again travels 7 km leftwards and finally travels 17 km to the left. How far is she from her original

place? / IiAT 3 ¥R A Y= Bl 8 3R Sfémr F iR 101 g wedl 8 ik b arft 8k 4 <t g
F §1 98 i arft o 7ot amm vl 3, ofR fiby & ot ok 7 faseit ok ofd & oY oiiR 17f+h a7
T IRH fig A ot R 22

* 35km

® 6km

® 31km

® 3km
Correct Answer :-3 km
96)
Question Stimulus :-

Select the statement which is logically equivalent to the given statement: / 3§ HY g Wt
% F1 =TfRe A A T FYT & 99H =:

If you study, thc_an you will get a good job. If you get a good job, then you will I?e happy. /
g 3T 3reaa ®Y, ) U 3t N firerfi| 4l smuey st N fArah, Y amu g g

® |f you do not study, then you will not be happy. / afe M Sreay= 9 ﬁ, GIRCIL LG E Eﬁ?fl

® If you study, then you will be happy. /'!T% 3T Mg aﬁ, ar 3myg RCRI ﬁ'ﬁl



® If you are happy, then you studied. / afe emy RERY %', a9 3T Sreay fomar %I

® |f you are not happy, then you did not get a good job. / afe 3mq LG &l %', al U ISt Bt E
et

Correct Answer :-If you study, then you will be happy. / afe 3ma sreg= ﬁ, ar 3my g aﬁl

97)
Question Stimulus :-

Select the statement, which is the logical equivalent to the statement given below: / dg

FYF A St aF 3t =R | A T FY9 F 9 B:

If you want to eat Chinese food, then you need to go to a restaurant. / af¢ 3MU FHT HieH
WHT 9184 €, dl 3MUH! HiSHITd JHT 91eu|

® You didn’t go to the restaurant. So you didn’t want to eat Chinese food. / 3[TJ YioTeg | Hﬁ ol Wﬁl’&
31T - @1 gt @rAT arga Al

® You don’t want to eat Chinese food so you didn’t go to the restaurant. / 34 CICIRCIE T-r(ﬂ ECIG I ?ng?r

ST 39 WiSHTed el T

® You wanted to go to the restaurant so you wanted to eat Chinese food. / 30 YIS ST ?ﬂ?ﬁ O} Wﬁﬂ'{
31T -1 @1 @11 9rgd A

® None of the above. / SURTad ﬁ'{f qﬁl

Correct Answer :-You didn’t go to the restaurant. So you didn’t want to eat Chinese food. / 3{Tq HisHTag §

T8l | sgferd 3y A+ @rET T8 WA 9rgd Al

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey ﬂﬁ'a

< R T YT 3R el & T § 9t ?:

Statements: / BY:
Some bikes are three-wheelers. / $& 915 faufgar g
All three-wheelers have wings. / 34 faufgal & v g1

All wings are straw-mats. / 9 g Yy@-geRal 3|

Conclusions: / fAwpd:



i.Some bikes have wings. / O S15®] & U@ 3|
il.Some bikes are straw-mats. / $9 qMEH @-ﬂ?lg'!ﬁ'%'l

® If only conclusion I follows / 'Qﬁ W ﬁ'ﬁﬂf 1 ﬁlﬁ?ﬂ %

® If only conclusion II follows / Tl'% W ﬁW‘f 11 ﬁlﬁﬁﬂ %

e If both conclusion I and II follows / af¢ fspd 1 3R 11 g ferd §

® If none of the conclusion I and II follows / uﬁ ﬁwnf I \’rﬁ? 11 ﬁ ﬁ aﬁé qﬁ IRESGI %
Correct Answer :-If both conclusion I and II follows / Tfe fehY I MR 1 o fAeaa %

99)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 38 fawe i[ﬁ'a
o 33 T wyEY SR fFewuf & IR F | @:

Statements: / ®YH:

Some brackets are highlighters. / $& 9%¢ glgAEcR 8!
All highlighters are switches. / [t glgdlgcy = %'I

Some switches are off. / 0 & ¥ g1

Conclusions: / fAp:

i.Some higlighters are off. / $S ggdI3cR §¢ &l
il.Some brackets are switches / $9 see &= ?I

® If only conclusion I follows / TI'% W ﬁ'ﬁﬂf 1 ﬁlﬁ?ﬂ %

® If only conclusion II follows / Tl'% W ﬁ'ﬁ‘i_& 11 ﬁlﬁ?ﬂ %

e If both conclusion I and II follows / af¢ fspd 1 3R 11 G fFrperd §

® If none of the conclusion I and II follows /tr% ﬁ'@ﬂf I \’rﬁ? 11 ﬁ ﬁ aﬁé qﬁ IECASGI %



Correct Answer :-If only conclusion II follows / af¢ Had e 11 fRrpaar 8

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe gﬁﬁ
Sit 33 T Sy 3R el & Iy § 9L ?:

Statements: / BY:

Some keys are levers. / $ A4l diaR B
Some levers are apples. / $© dlaR A9 g1

All apples are buttons. / I 49 g g1

Conclusions: / fAwpd:

i.Some buttons are levers. / P9 dcq R %'I

ii.Some buttons are keys. / $© §e M4l g
® If only conclusion I follows / ‘Tﬁ' W ﬁ'ﬁv_ﬁf I ﬁlﬁ?ﬂ %
® [f only conclusion II follows / ?T% W ﬁ'mﬂf 1I ﬁm %
® If both conclusion I and II follows / '*T% ﬁwﬁf | GﬁT 1I ?ﬂ_"ﬁ ﬁﬁa %’

® If none of the conclusion I and II follows /ﬂﬁ ﬁ'ﬁﬂf I Gﬁ? II ﬁ '\ﬁ aﬁ'é T'Iﬁ ﬁlﬁ?ﬂ %
Correct Answer :-If only conclusion I follows / Tf¢ Fad fased 1 fwaar (4



